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= 300m’/h ELT-BE
6300m’ —~ 300m*/h = 21 B[S 2E 9 5,

QLK (FH#AK) LRBKEBDKEHHRKT HIHE
6300m’- (240m*/h+300m°/h) x 1085 .~ 300m*/h

+ 10R5R = 13 BRI ET 5,

- HURKBARLT  200° x3. Om¥/mx 23mXx 37kw X 24

3. Om*/min X 60min X 2& = 360m°/h

HIRASTHERLT  200%x150% x 4. Om®/m x 27m x 30kw

4. Om®/min X 60min& = 240m*/h

125% x 2. Om*/mx 40m x 22kw X 24

2. Om®/min X 60min X 2& = 240m*/h

6300m° (360™/h+340m*/h+340m’/h) = 7. 5 BZET 3,
EE#kO~EEKkTNS,




EE D 15

-EERKFEB

Rk o EIK(FERRK) ZEERKT 5,
FERKIEAD KEEERKIEBAKKT B, (FA/KATEEE 6300m°)

P E B R . QLEKGHEEEK) THRKT HHE
RIZ LK (FEHAK) DIKEEHNE  (BEE) 5002/min = 5m®/min X 60min
= 300m*/h &LI=BE

2400 m® =+ 300 m*/h = 8 B5f 2ET 3,
@K (#EHAIK) ERERKIEBADKEHRKT H5E
ARIASTEEZRTDIHKEENES. Om*/mink LT
2400m®,/300m*/h+ (4. Om*/hx60) = 4. 4R[S = # SEEREIEEST 3,
B oK
(DFEHKARYT . HoRKBRUT 1500 x2. Om*/mx8mXx 11kw
e A 2. Om®/min X 60min= 120m%/h

FEn FERKIEB2400m,~120m3/h = 20 BREIZET 3,

EfEHKO~NEEKEINS,
I. #2358

(1) ZEBR/KIEBA 1=

(2) EEBRK#EB 1=

(3) HEKEE 1%

(4) HREE 1%

Im. & & % &

HER AR D INEIZER
(1x1/4S)x720mm/hx 13mm . 200W

= 18

Fhig : P32—2A REHEE

(L)2160mmx (W)415mmx (H)2800mm
B # C1HE




	３項

